TARGET To use a written method to divide TU by U.
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@ Fifty-two paint brushes

are divided equally
between four pots.
How many brushes
are in each pot?

@ Cleo saves 2p coins.
She has saved 74p
altogether. How many
coins has she saved?

(B The 81 children in
Year 3 are split into
three equal classes.
How many children
are in each class?

€) How many 5cm
lengths can be cut
from 90 cm of string?

@) Five cakes cost £1.75
altogether. What
does one cake cost?
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@ Footballs cost £8
each. A school pays
£136 for its new
balls. How many
have been bought?

@ Three friends share a
bingo prize of £204.
How much do they
each get?



